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1 |BEBAREXRE 4 13 515 214 36 41.6 1 |EBRARERE 4 13 38 12 4 31.6
2 |©REXE 3 10 376 153 5 40.7 2 (NI KR 5 18 17 4 3 23.5
3 | RIBEREKE 4 14 578 209 33 36.2 3 |EELERAE 3 9 20 4 5 20.0
4 [AELERKE 3 9 365 116 21 31.8 4 [RIFEEKE 4 14 25 3 3 12.0
5 [N I KZE 5 18 756 233 43 30.8 5 [fBEXKE 3 10 5 0 0 0.0
6 |REARFEKZE 3 10 410 92 29 22.4 5 [EREEKZE 3 10 1 0 1 0.0
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1 | I KRE 5 18 756 30.8 229 4 233 1 |EBRAFEXRR 4 13 25 1.92
2 |EBRAREXRE 4 13 515 41.6 202 12 214 2 [fBEKE 3 10 13 1.30
3 | RIGEREKE 4 14 578 36.2 206 3 209 3 (NI KRE 5 18 18 1.00
4 [fBRIKZE 3 10 376 40.7 153 0 153 3 | RIGERKZE 4 14 14 1.00
5 |BEmXERRE 3 9 365 31.8 112 4 116 5 [RERZEEKRE 3 10 8 0.80
6 |EERFEXF 3 10 410 22.4 92 0 92 6 [ARmRZERKE 3 9 5 0.56
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1[I KRE 5 18 408 21 1 30 13.8 1 |fEEXE 3 10 179 | 116 0 63 64.8
2 |EEAREXRE 4 13 315 21 105 56 10.6 2 [RIGEEKRE 4 14 257 | 161 0 96 62.6
3 |fREKE 3 10 238 10 75 21 9.9 2 [ERARBXRE 4 13 235 | 147 0 88 62.6
4 |RIGERKE 4 14 315 13 94 29 9.3 4 (NI KRE 5 18 341 203 0 138 59.5
5 |REREEXRE 3 10 162 3 52 9 8.5 5 [REREREKRE 3 10 218 | 125 0 93 57.3
6 |FAEXERRE 3 9 184 5 60 19 8.3 6 |FRRFERAZE 3 9 191 95 0 96 49.7
H—THER (%) =(H—ERI—Rx100+58 x25—%km x25) +iTH Y—T LI —TRUME (%) = (I E] x 100+K[R] x50) +3T#
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